8. Exploded View and its Parts List

8-1 Main Exploded View

8-2 Main Parts List

8-3 Charger Exploded View

8-4 Charger Parts List

8-5 Travel Adaptor

8-6 Travel Adaptor Parts List
8-7 Ciger Light Adaptor

8-8 Ciger Light Adaptor Part List
8-9 Hands Free Kit Diagram
8-10 Boost Kit

8-11 Hands Free Car Kit Option
8-11-1 Hands Free Car Kit Ass’y
8-11-2 Hands Free Cradle Exploded View
8-11-3 Cradle Mechanism Part List

Samsung Electronics

8-1



8-1 Main Exploded View

Exploded View and its Parts List

Samsung Electronics

8-2



8-2 Main Parts List

Exploded View and its Parts List

NO DESCRIPTION SEC. CODE QTY REMARK
1 TAPE WINDOW BOHO GH72-10517A 1
2 LCD WINDOW GH72-41533A 1
3 WINDOW TAPE GH74-40515A 1
4 LED LENS GH72-41532A 1
5 FRONT COVER GH72-41507A 1
6 STRIP FINGER A GH71-10623A 1

STRIP FINGER C GH71-10641A 1
7 KEY VOLUME GH73-30005A 1
8 FLIP COVER GH72-41509A 1
9 MAGENETIC 3302-001110 1
10 MAGENETIC COVER GH68-31000A 1
11 HINGE HOUSING GH72-41543A 2
12 SHAFT HINGE GH72-41544A 2
13 CAM HINGE GH72-41545A 2
14 HINGE SPRING GH61-70018A 2
15 HOUSING CAP GH72-41546A 2
16 SPONGE LCD GH73-30007A 1
17 3 x4 KEY GH73-30004A 1
18 RUBBER BUZZER GH73-30006A 1
19 KEY PBA GH96-01126A 1
20 RUBBER MIC GH73-40684A 1
21 MIC COVER GH74-10745A 1
22 ISO-TAPE GH74-40516A 1
23 SHIELD CAN GH72-41531A 1
24 MAIN PBA GH96-01095A 1
25 RUBBER CONNECTOR GH73-40639A 1
26 ANTT BRACKET GH71-10703A 1
27 MOTOR GH31-10004A 1
28 ANTENA TUBE 1
29 ANTENA GH42-10523A 1
30 CLIP GH72-41687A 1
31 REAR COVER GH72-41508A 1
32 LOCKER SPRING GH70-10516A 1
33 LOCKER MAIN GH72-41510A 1
34 EARPHONE COVER GH73-40683A 1
35 SCREW M2 x 5 6001-001148 4
36 BASE LABEL GH68-31153A 1
37 BATT LABEL GH68-31154A 1
38 STD BATTERY GH43-10314A 1
39 LONG BATTERY GH43-10333A 1
40 SLIM BATTERY GH43-10315A 1

Samsung Electronics 8-3




Exploded View and its Parts List

8-3 Charger Exploded View

8-4 Samsung Electronics



8-4 Charger Parts List

Exploded View and its Parts List

NO DESCRIPTION CODE QTY REMARK
1 CHARGER UPPER DMMO000043 1

2 GATE LABEL DMM500024 1

3 LED CAP DMMO000053 2

4 BATTERY HOUSIN DMMO000044 1

5 HANDY LOCKER DMMO000046 2

6 SCREW M2.6 x 6 6003-000107 4 EA

7 SCREW M3 x 6 6003-000115 3 EA

8 PBA 1

9 DTC LOWER DMMO000049 1

10 BUMPON DMM300004 4

1 SCREW M3 x 12 6003-000161 4

12 LABEL DMM500026 1

Samsung Electronics 8-5




Exploded View and its Parts List

8-5 Travel Adaptor

8-6 Travel Adaptor Parts List

Type SEC Code Remark
A GH44-30548A CHINA
B GH44-30549A EUROPE
C GHA44-30547A UNITED KINGDOM

8-6

Samsung Electronics




8-7 Ciger Light Adaptor

Exploded View and its Parts List

8-8 Ciger Light Adaptor Part List

Description

SEC Code

Remark

Ciger Light Adaptor Code

GH44-30546A

BLACK

Samsung Electronics

8-7



Exploded View and its Parts List

8-9 Hands Free Kit Diagram

8-8 Samsung Electronics



Exploded View and its Parts List

8-10 Boost Kit

8-9

Samsung Electronics



Exploded View and its Parts List

8-11 Hands Free Car Kit Option

8-11-1 Hands Free Car Kit Ass’y

Hands-free box

Micro Phone

Orange (Ignition)
Brown (Stereo Mute)

Red (Vehicle Battery)

Black (GND)

&

——Antenna

Option Code: GH96-01150A

8-10 Samsung Electronics



Exploded View and its Parts List

8-11-2 Hands Free Cradle Exploded View

8-11

Samsung Electronics



Exploded View and its Parts List

8-11-3 Cradle Mechanism Part List

NO DESCRIPTION SEC. CODE QTY REMARK
1 GATE LABEL GH68-11107A 1
2 CRADLE UPPER GH72-41519A 1
3 SOCKET PLATE GH70-10526A 1
4 LOCKER GH72-41521A 2
5 TORSION SPRING GH61-70012A 2
6 EJECTOR PIN(R) GH72-41524A 1
7 EJECTOR SPRING GH70-10520A 2
8 EJECTOR PIN(L) GH72-41523A 1
9 CLAMP GH72-41522A 1
10 SCREW M2.6 x 6, +, BH 6003-000107 6
11 PCB GH41-10639A 1
12 SCREW M2 x 6, +, BH 6003-000158 2
13 CABLE CAP GH72-41252A 1
14 CRADLE LOWER GH72-41520A 1
15 SCREW M3 x 8, +, BH 6001-000158 1
16 CRADLE LABEL GH68-31163A 1
17 EJECTOR GH72-41523A
18 CRADLE DATA CABLE
8-12 Samsung Electronics




